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QUESTION 1

Refer to the exhibit.
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An administrator has created a new Windows VM and given it to the user. The user states that only the C drive mapping
is visible within the Windows OS.

What is causing this issue?

A. The user has not formatted and assigned drive letters to the additional disks.
B. The additional disks have not been formatted as EXFAT in Prism Central.

C. The administrator has not run the dd command line community utility.

D. The additional disks were formatted as NTFS in Prism Central.

Correct Answer: A

QUESTION 2

An administrator has been asked to add 200 virtual machines to their existing Nutanix cluster. Which Nutanix product
will help them plan for this addition capacity?

A. Beam
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B. Prism Pro
C. Era
D. Calm

Correct Answer: B

QUESTION 3

An administrator is upgrading a current three-node Nutanix cluster with new HCI nodes. Currently, the environment is
based on a Single two-unit chassis hosted in one cabinet.

By simply changing the system form factor, what new level of resiliency may this customer achieve?
A. Rack awareness

B. Block awareness

C. Metro Availability

D. Better replication factor

Correct Answer: B

QUESTION 4

Refer to the exhibit.

Latest NCA-5.15 Dumps | NCA-5.15 Practice Test | NCA-5.15 Study Guide 3/9


https://www.passapply.com/nca-5-15.html
https://www.passapply.com/nca-5-15.html
https://www.passapply.com/nca-5-15.html

VCE & PDF https://www.passapply.com/nca-5-15.html
2024 Latest passapply NCA-5.15 PDF and VCE dumps Download

Trigger alen if conditions persist for |10 Minutes -
B Enable Policy - ; 4

PassApply.com
Create Alert Policy ? x
!
[ --Entity TyBo i
i e Last week '~
VM . :
F T o ’ 100
I - Er - - - -
1< Enitity
] Qong VM - 505
oS S B ko &A s, . A
| | boolcamp_good 1 = R o e W, e
os? Q508 QB QEAD G 0512 o5M3
i [ T
| ¥
! CPU Usage v
| EMFROCE [y
!
! Pedarmance -
1 - -
!
1
i Foficy MNamo Static Threshald <
[ bogteamp,_good, 1 - Vi CRU B o Alert Critical if = w | | of > w agQ
I[ o cr i Alert Warning if ' o
| 5
: B Auto resolve alers
|
f
|

What is indicated by the yellow area of the chart?
A. Normal utilization

B. Critical alerts

C. Warning alerts

D. Abnormal utilization

Correct Answer: C

QUESTION 5

A developer requests that a VM connects to a block device from an older ISCSI disk array, in order to support an
application being transitioned to Nutanix.

What should the Nutanix administrator do to complete this task?
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A. Use Flits to map a network drive letter.

B. Add the VM to the whitelist to allow it to access the block device.

C. Use Volumes to add the device as a drive letter.

D. Add the array to the whitelist to access the storage container directly.

Correct Answer: C

QUESTION 6

Refer to the exhibit.
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An administrator reviews the error in the exhibit then examines the state of the cluster. The administrator finds that the
AHV host is up and functional, but the cluster capacity is low.

What will happen to the VMs on the host with this Controller VM?
A. They will reboot onto other nodes in the cluster.

B. They will shut down and be orphaned on the host.

C. They will remain on the current host.

D. They will be shut down unless protected by a Protection Policy.

Correct Answer: A

QUESTION 7

Refer to the exhibit.
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The reference exhibit above is from a newly-created VM. When the administrator powers on the VM. GuestOS
installation is not happening What is causing this issue?

A. Network boot is happening

B. The GuestOS installer is corrupted

C. The SCSI disk is corrupted

D. GuestOS installer is not loaded in the CD-ROM

Correct Answer: D

QUESTION 8

An administrator is unable to discover a Nutanix-hosted iISCSI block device allocated to a bare-metal host. What is
causing this issue?

A. Jumbo frames has not been configured on the switch

B. External client access has not been enabled for the host
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C. Network segmentation has not been enabled
D. External host IP address is not in the Filesystem Whitelist

Correct Answer: D

QUESTION 9

Which Nutanix cluster component is responsible for triggering data movement events between SSD and HDD tiers?
A. Genesis

B. ILM

C. Cassandra

D. OpLog

Correct Answer: B

QUESTION 10

An administrator wants a VM to communicate with two separate VLANs. What steps should the administrator
complete?

A. Add two NICs to the VM and configure one for each VLAN
B. Add a single NIC to the VM and configure it for both VLANs
C. Turn on IPAM for autoconfiguration of VLANs

D. Configure a Security Policy to assign VLANs to the VM

Correct Answer: A

QUESTION 11

Which two Nutanix features offer the ability to restore a VM? (Choose two.)
A. Data Protection

B. Nutanix Leap

C. Nutanix Flow

D. Site Recovery Manager

Correct Answer: AB
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QUESTION 12

Refer to the exhibit: Based on the exhibit what can be definitively determined about Host DEMO-AHV-2\\

A. it has performed more on-disk lookups than the other nodes.
B. It\\'s cache is undersized compared to the other nodes.

C. The system memory is undersized.

D. It is hosting a higher quantity of VMs than the other nodes.

Correct Answer: A

QUESTION 13

Which Nutanix concept is responsible for accommodating and remediating node failure scenarios?
A. Life cycle management

B. Auto resolve mode

C. Data locality

D. Self healing

Correct Answer: C

QUESTION 14

An administrator has planned a RAM upgrade on a 3-node Nutanix cluster. Which step should be performed first for a
non-disruptive memory upgrade?

A. Stop one CVM at time
B. RunNCC

C. Power off one host at time
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D. Live Migrate VMs

Correct Answer: B

QUESTION 15

A company\\'s security team has requested that all IT resources be hardened.

What should an administrator do to increase the security of the Nutanix environment?
A. Enable Cluster Lockdown

B. Enable Prism Central KMS

C. Enable Flow

D. Enable STIG

Correct Answer: A
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